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Grade 10 Add Math               I Mid term Test – October, 2010      
04/10/10
Duration: 50 mins









50 marks

a) Express 
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 in the form 
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, where 
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is an integer.
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b) Express 
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in the form 
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, where 
[image: image6.wmf]c

 and 
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 are integers.
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2) The triangle ABC has vertices A( - 2, 3), B (4, 1) and C(2, -5).

a) Find the coordinates of the mid-point of BC.




[1]

i) Find the gradient of AB, in its simplest form.




[1]

ii) Hence find an equation of the line AB, giving your answer in the form 
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, where 
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and 
[image: image10.wmf]r

are integers.
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iii) Find an equation of the line passing through C which is parallel to AB. 
[2]

b) Prove that angle ABC is a right angle.





[2]

3) Solve the following:
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i) Expand 
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ii) Use your answer to part (i) to find the integers a and b for which 
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can be expressed in the form 
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b) Find the coefficient of 
[image: image15.wmf]x

 in the expansion of 
[image: image16.wmf]7

4

x

x

æö

-

ç÷

èø

.



[3]
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The diagram shows a rectangle ABCD, where A is (3, 2) and B is (1, 6).

c) Find the equation of BC.
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Given that the equation of AC is 
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, find
d) the coordinates of C,
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e) the perimeter of the rectangle ABCD.
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4) The binomial expansion  of 
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, where 
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, in ascending powers of 
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Find the value of 
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, of 
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and of 
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i) Express 
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 in the form 
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, where p and q are integers.  [2]

ii) Write down the coordinates of the vertex of the curve with equation 
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.
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iii) Write down the equation of the line of symmetry of the curve 
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. 
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iv) Sketch the curve, indicating the values of the intercepts on the x-axis and the y-axis and vertex.
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b) Determine the coordinates of the points of intersection of the line 
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yx

=+

and the curve 
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